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Homework 7-5

1. 4

2a.7/25 b.-24/25 c¢.-7/24  d.163.7°
3a.-5/13b.-12/13 c¢.5/12 d.202.6°

4. sin(B) = -3/5 cos(B) =-4/5 tan(B8)=3/4 d.216.9°
5. sin(B) = 5/\29 cos(B) = -2/~29 tan(B)= -5/2

6. A 7.3
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1. Which diagram(right) represents an angle. a , measuring \ N
% radians drawn in standard position, and its

reference angle, #2 (Regents question)
fere, o = whole *
G = i *
et M@ma(

For#2-4:  a.Whatissin()? @ @
b. Whatis cos(B)2

<. Whatis tan(8)?
d. Find angle 8 fo the nearest fenth.

2.The angle 6 corresponds to the angle between the posiiive x-axis and the line between the origin

24 7
and the point | on the unit circle. State €rs as an exact expressions, "
° [25 25 e o you e ot

a) Z;)S L) /;»L/ - A/}‘f P\éf‘\‘

o
b> g/'l d) %= sin”l( /)/b) le:3°
6= IO ~fo:3 ‘/(45 7°

3. The angle 6 corresponds to the angle between the positive x-axis and the line between the origin

_5\
and the point ( ]32 %J on the unit circle. State your answers as an exact expressions

¢ 5 “—‘tb/l’) e 62_:],]]‘:

> _ 5
OL) )'%,3 c)ﬂ}’ 2 = //g‘_—: ) T
DRC/ER) o</> G 5) 2k @1

G= 1607926 =308 (°




Day 6 - Pythagorean Identity.notebook January 03, 2019

4. P(-4,-3] is a point on the terminal side of 0 in standard position. Find the exact values of sin(6).

cos(6) and tan(o). m/@f - Esi lYOf 3c~ﬁ
o
it 4a(%):36.9

T g5 ayee”

5. P(-2, 5)is a point on the terminal side of 8 in standard position. Find the exact values of sin(8),
cos(0) and tan(6), 2 z_ 2
2 +57=X

Y5 =X2
AET AL (6)= 2=
X=124 Lo Va7

Jonl8) =5

snlt) 7=

6. Acircle centered at the origin has a radius on 10 units. The terminal side of an angle, 8,
intercepts the circle in Quadrant Il at point C. The y-coordinate of point C is 8. What is the
value of cos(0)? (Regents question)

7% b. 7% . 2’ d. g
[
= ‘uble

7. The function flx)= 2702 -sin[gx)J’re“presenh a damped sound wave function. What is the

average rate of change for this function on the inferval [7.7]. 1o the nearest hundredith?
(Regents Question) - _ ~e5(7) It
( nas o) D=2 s (F0) = - 217
(4] 336

[2) -0.30 ey
Dy $(0=2" e (B1)= 3304
—_— 297 3,369 b5

M
éx Q‘db(y X 7-¢D
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\L)z R
Pythagorean Theorem: 63 + - C

CANe N /
Onthe unitcircle: __ S +U4 -

J )
Remember: x = COS (@\) and vy =S1in §9 ’ ,50... [

-
Pythagorean Identity: Sin @‘(‘ C031® : ‘
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¥
Examples:

1. Using the Pythagorean Identity, given sin(6) = .4, find | cos(8) | and |tan(©)].
SN ©O)+co¥(©):| ——— m
( Facor(@): | (OO STT s 2. ¢
' Cos(©) = PSS

@sH(S) ;- 3¢ cosl6) ]
2. Using the Bythagorean Identity, given cos(8) =5/13 , and angle 6 is in guadrani IV, :—%—

s [A

T l Sl-r\:_
; \ i (@) ©+cm

+¢’\(@> SH\(@ ',
s () —?—/i—_@
B 5
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3. Using the identity sin2(B) +cos2(B) =1, if cos(8) is -0.7 anm

a. Find sin(B) to the nearest fenTh @_ﬂ
s s(@w—ﬂ sin(0)7 2

3"\1(9) "‘ | .
J52(0) J_ Sin(©):*77

b. Find tan(B) and m<6 to the nearest tenth. 3¢ A\ Se POSTl;lVQ '\'f s ‘Ft:we‘wr\

‘[‘C\‘q (@) N (@ M Fird Ha ref X

COS‘(@ ’ —77_‘\ find e M¥6

Sin (7) AHL\
G - 180" -94.4° 5 135 4°
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S‘inl(g)+cmz(6\ =
4. If sin?{32°)+cos?(M) =1, then M equols s —-F\ M .,
& Sk

b. 58° c. 68°

Culenlstor, N "3 St keg
¢ (3in () + (cos (32))

5. Using the Pythagorean Identity, given cos(6) = - 0.5, and angle 8 is in quadrant Il
find sm[B} and tan(9) to the nearest tenth.
s ‘ A
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&.

J cogz@\ ﬁ;- = tan (@)= -2 .16

Draw an angle in standard position given cos(8) = - 1/2, and angle © is in
quadrant lll. Use the triangle to find sin(8) and tan(8) to the nearest tenth.

S|A S (s)+(-L3 |

@] c Yen i

A (9\ ~Bx.q sil0) :

6) V32 ‘7
Using the Pythagorean Identity, given sin(g) = - 7/10, and angle § is in quodran‘r
IV, find the exact values of cos(8) and tan(6). s

(-?]3)7_1-(‘0&.( :
@s‘(@\ -4 .ﬁ_ cos(G)- WW %_

. If sinZ(B)+cos?(m) =1, then uals 1—
a. -8 b. rr,fS @ d. /2 O iy
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